Efficiency vs dr

x 0.02¢
< [
£.018F
D.016[---
c .
G) L .
®.014f -+
= r
9.012f---

0.01f -
0.008f--+
0.006f--
0.004f -
0.002--

1
—=— DQMstep3 ZTOEE_CKF
"| —— DQMstep3_ZToEE_default

Ratio
N

—— DQMstep3_ZToEE_defaultNEWT

0.5E—— il S M 1D T
1073 1072 107 1
TP min AR

[ Efficiency vs dr (track,jet) |
§0.01
n0.009
-
gJ.OOS
9.007
>
2.006
Q
:-'=0.005
@
0.004
0.003
0.002
0.001

0.6 CRREE R LR Bt
107 1072

-1

1
AR(TP, jét)

Efficiency vs pu

5 0.0
o
9.009
3.008
(]
©®.007
=
%.006
0.005
0.004
0.003
0.002
0.001

.................................................

..................................................

.................................................




	Contents
	Page 1


